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INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

WIong answer.

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using
BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the

question, the English Version will be treated as standard.

At

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.
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Do not open this Test Booklet until you are asked to do so.
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1. Motor cells are foung in the upper epidermis
oi- ‘
(1) Nerium leaf
(2) Phylloclade :
(3) Cladodes
(4) Maize leaf

2. Causative organism of filariasis is -
(1) Wuchereria bancrofti
(2) Ascaris
(3) Trichinella spiralis
(4) Trichuris trichiura

3. Name the technique which is used to enhance
the shelf life of a tomato -

(1) Antisense technology
(2) Robertsonian transfer
(3) Ex vivo gene transfer
(4) Molecular farming

4. Cell line obtained from human foetal lung
fibroblast is -
1 L
(2) Hela
(3) MRC-5
4 WISH
5. About 70% of total global carbon is found in
one of the following -
(I) Ocean
(2) Forest
(3) Grassland
(4) Agriculture ecosystem

6. What is the end product of glycolysis?
(1) Succinic acid
(2) Oxalic acid
(3) Pyruvic acid
(4) Citric acid

T Rl ¥ AR RN | OR®
PIRNHN) 4TS SR § —

@ REw o wh A

(2) UURG™ #

(3) TUmad ¥

(4) WEHT B OGN A
BIEARRIY &1 BRP o & —

1) TR e

(2) TSR

() TSR wrERIe

@ TEERE TRGISY

I AFND BT A IS¢ STHBT START
e B Ao AR B doM @ forg far
T g —

(1) UERIY dbeited :
) iHIFET B '
(3) TTa a1 S RIFGR
@ nfdae <l {
qFd 40T B BHe & HEIERe W U
HIRIGT A8 8 —

n L .
(2) HeLa L
(3) MRC-5 k
@) WISH

Gl AP HET BT T 70% FreferfEe
¥ UP R ST § —

(1) ¥TENFR

2y T

3} TN wE

@ o aRRufder o
THIEHIAEY $I SifqF Seue Far 87
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7. The systematic arrangement of taxa is called — 7.
3
(1) Taxonomy 1) sl
(2) Key (2) T
(3) Genealogy (3) demaeh
(4) Hierarchy @) wEE
8. A bacterium survives on organic molecules 8. Th Gﬁ"cleg 37 Skl gRT Wl RS
synthesized by other organisms. It relies on both 3TQI3ﬁ o Sifdd @A 21 A &9 GTUJEH‘T ERd
carbon and energy sources. Which term is most P T4 Soil SN B S & e £aR g
appropriate for this bacterium? 21 39 e & forg JUGRT IS & —
(1) Photoautotroph (1) wRRIEEE
(2) Chemoautotroph ) qﬁq}aﬁaﬁtﬁ
(3) Photoheterotroph (3) DR
(4) Chemoheterotroph @) FrRedsiR
9. What type of microscopy would you use if you 9.  afY an9 s T & veeigiie /36 B
want to get a topographical/3D image of your U 6T A8 8, O AU 59 yer @
sample? ATEEHIDBIGT FT SUGIT HYH?
(1) Light microscopy (1) < AZHIDIYT
(2) Fluorescence microscopy 2) yfRrfR s
(3) Scanning electron microscopy 3) BT g AEERPTT
(4) Transmission electron microscopy @) SiEfEE sdde AsHI I
10. In which cell organelle DNA is not present? 10. &9 SRR 3 SIeE. Aiee &l g 87
(1) Mitochondria (1) wEediga
(2) Nucleus #)) W{ﬁﬂw
(3) Golgi apparatus @) NS PR
(4) Chloropiast @ FARRE
11.  During symbiotic nitrogen fixation how many 11. H&ESid! -iggioM Rerigwwr § wo A1
mole of ATP are 'required to fix one mole of AEEeH B Rer o9 @ fow fFaT i
nitrogen? TAML DI MaTadar Bl 27
a 1z ® 12
@) 20 2 20
@) 6 @B 6
@4 16 @ 16
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12. Which of the following types require pollinator 12,

but result is genetically similar to autogamy?

1)
2
3
@

13. Redrust of tea is caused by - 13.

@
(2)
3
“@

14. The epithelium found in the walls of blood 14.

Geitonogamy
Xenogaimy
Apogamy
Cleistogamy

Red algae
Green algae
Brown algae

Fungus

vessel is -

1
@
3
C)

15. Where one sacrifies its own reproductive 15.

Cuboidal epithelium
Columnar epithelium
Squamous epithelium

Ciliated epithelium

privileges to promote reproduction in another
related individual, it is called -

frfefaa § 9 59 YHR B WRE0E B
STEear Bl & oifdrT aiRon JgdRie w9
¥ e & w9 Biar 87
(1) FoRgs REToT
) RFEEEE

3) g

@) g wET
=71 ¥ Ys—R< BT ¥ -
(1) el daIE g

() = ¥ gr

@) W Y R

@) HIF NI

T aiedEl § uE S aiell Subel § —

(1) EIHR SuG

(2) WYPR SUHel

(3) o YDl

(@) vl SuHer

WY DS ol e et welt # o @
ARwfteR & @ dear €, a9 39 el
ST & —

”

(1) Reciprocation (1) Ry
3 C tive brood
3) ooperative broo @) wEIE o
(4) Selfishness @ &
16. Which among the foll&lxiving is not a flexible 16. Fr= ¥ ¥ PI=9r orien A T 87
learning?
(1) Habituation (1) R
(2) Trial and error (2) g w&§ g
(3) Classical conditioning 3) PRrwfafsa ugas
(4) Imprinting @ eEDA
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18.

19.

20.

21.

22

Syngenesious and epipetalous stamens are

found in -

(1) Poaceae
(2) Apiaceae
(3) Liliaceae
(4) Asteraceae

In which of the following family lodicules are
present?
1
)
3
@

Poaceae
Ranunculaceae
Asclepiadaceae
Asteraceae

In which of the following fishes, the dorsal fin

is modified into sucker? .
(I) Torpedo
(2) Hippocampus
(3) Echeneis
(4) Exocoetus

Proximate and ultimate are two ways of -
1)
@
3
@)

The enzymes that cuts DNA are called -
(1) Ligases

(2) Restriction endonucleases

Interpreting behaviour.  «
Learning
Innate releasing mechanism

Releasers

(3) Polymerases

(4) Isomerases

Which element is related with input domain of
instructional system under system approach of
education?

(1) Teaching strategies

(2) Curriculum content

(3) Evaluation

(4) Teaching support material

17.

20.

21.

22.

IHRIGIEN G4 Terer ey 117 oIy § —

(1) T

) VR

(3) forfordh

@ TR

fertfoe § & fow o § <ifdwE ug
oI 27

(1) g

(2) g

(3) TS

@ T

fr=ifeiRae 4 & e 7ol # g v 9w
# wuiaRa gy &7

(1) <RGSr

2) EH=T T

(3) waFE

@ vFEEed

Aled™E T Alie |1 YoR & —
(1) ER FT B D

(2) <fr™ B

(3) &S W= Yol

@ Reler

LY. P Fies 918 TolgH Hedn § —
@ g

2) Rgwr (ERmeT

(3) dieiRy

@ nsErRS

Rem &= # uonel Surm @ sl
IRTATS Yorlell ¥ 37T 9e ¥ B 97 o
wfnforg 872

(1) e oE Tl

2) uEIEw

3) TiHT
4) PRror gsme g
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23.  Which of the following statement is incorrect? 23, f=ifeiRag % & SiTam Hom waa 87
(1) Coralloid roots have algal zone. (1) DRezs o ¥ Jae &9 86l 2
(2) Cortex is not differentiated in corailoid (2) DReiss e § oo s =8
TOots. BT 2|
(3) Coralloid roots show little or no (3) TRAES o ¥ B9 AT B daB
secondary growth. Ify =8 g Wy ¥
(4) Coralloid roots are present in cycas. @) PREES TS TEHT ¥ e o &
24. Smooth muscle fibres are - 24, o oRml & 9 9g 8 g -
(1) striated and voluntary (1) <Rga = IRes
(2) unstriated and involuntary (2) RRag oo Mo
(3) unstriated and voluntary ) oRfag qer voe
(4) striated and involuntary @) Rag oen ARes
25. Which element of the phloem tissue is 25. WellQH SHA® BT HITHT JTIT T BIABII
composed of dead cells? g~ fAfia g &7
(1) Sieve tube elements 1 = <gd Aauq
(2) Companion cells (2) T BINGNY
(3) Phloem parenchyma (3) A RewE
(4) Phloem fibres @) Tl BIgER
26. Degree of scattering in transmission electron 26. WUl Solggia GeTasil 4 YHEH & R
microscope is a function of - B T —
(1) wavelength of electron beam used 1) "R SolFei[ §1 $ aRITasd BT
(2) number of atoms that lie in the electron (2) D9d sege 9 H Req e
path only DY T BT
(3) mass of atoms that lie in the electron (3) DI sﬁ‘dﬁl’ﬁ 7T # fRery T-RInﬂaﬁ
path only D SHHTT BT
(4) naumber and mass of atom that lie in the @) woweqE 9 A Rea wAE @i
electron path T 9 GIAN Bl
27. The Montreal Protocol was signed in 1987 27. 1987 # Hifgad UIRIBidl W TWER Y7 717
to - o —
(1) prevent deforestation (1) T @ B P P B e
(2) control the emission of ozone (2) I TIPR TSR B SHIT B
depleting substances e o & fog,
(3) control the greenhouse gases @) W wew A @ FRbT v B
(4) prevent hazards from radioactive ferg )
nuclear wastes @ ENEENEN P:EWE TR D
03- 9 Page 6 of 32 k”
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28.

29,

30.

31.

Match the following and choose the correct 28.

‘option in reference to affinity chromatography-

Type of Ligand Target molecule
(A) Avidin i Coagulation Factors
(B) Proteins A ii Biotin containing
and G enzyme
(C) Heparin iii  Glycoprotein
(D) Phenyl iv  Immunoglobulins
boronate '

(1) (A)-iv, (B)-iii, (C) - i, (D) - i
@) (A)-ii, (B)-iv, (C) - i, (D) - i
3) (A)-iii, (B) - iv, (C) -1, (D) -ii
@ (A)-iv, (B)-ii, (C) - iii, (D) - i

Threatened plant species of India is - 29.

(1) Crotalaria juncea

(2) Cannabis sativa

(3) Chlorophytum tuberosum

(4) Aconitum ferox

Which of the following is not an extra 30.

embryonic membrane in chick?
(1) Yolksac
(2) Placenta
(3) Allantois
(4) Amnion

Crossing over

responsible for -
(1) Linkage
(2) Dominance
(3) Recombination
(4) Codominance

in diploid organism is 3L,

i

fFefiaa & gAfera #IvT el ofsfred)
PRSI & T F w8 Rweq &1 99

BTG —

forifs @1 wor g A

(A) ufafsa i Thed BRSD

(B) WET AR i IR gm
G GoTigd

(C) zURA it TARHUCH

D) T iv  SHgARAIge
IRME

M (A)-iv, B) -iii, (C) -i, (D) - ii
2) «A)-ii, (B)-iv, (C) -1, (D) - iii
3) (A)-iii, B)-iv, (C) -1, (D) - ii
@ (A)-iv, (B)-1ii, (C) -iii, (D) - i

URT B AHCTw Uiey iy & —
1) wicaRar Sifktm
(2) Hew dfear

AN

(3). FEARIBISEH TIERNH

@) STIfeH Bifew

fFrefafaa § 9 S W g #-
JikiReT it fereet ==&t 27

(1) bGP Py

(2) e

@) Va<iEa

@ TEE

fEafE ofte # oiRET AR fPae for
e 87

(1) g Ear

(2) vfdeT

() gTIEeH
(4) FEwIfedr
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32. Match the plants given under column I with 32. ®fem [ % Ry g dieff & ®iem 0 4 &Y
their scientific names given under column II and T S dEifee Tml § Fed sk w8
choose the correct option — IGET g-.?[ —
Column I Column IT Do 1 Bieq 1
Plants of Scientific names s e 3 = T .
economic
importance ' b
(A) | Groundnut | (p) | Trigoneila (A) | FTeen | (p) | ETSAe +
foenum — BIgTH—UgHI
£raccuin B) | %l (@ | Fafm
(B) | Fenugreek | (q) Sunr?lﬁlll]nr? © [ @ |
(C) | Cumin (r) | Gossypium R
herbaceum D) | PN (s) | anfps i
(D) | Cotton (s) | Arachis hypogae BRI
(1) A, B-s,C-q,D-p (1) A-1,B-s,Cq,D-p
(2) A-s,B-p,C-q,Dr (2) A-s,B-p,C-q, D
3 A-p,B-s,C-q,Dr 3) A-p,B-5,C-q,D-r !
4 A-s,B-q,C-p,D-r 4 A-s,B-q,C-p,Dr
33. (Cadherins are - 33. PRI BN E -
(1) Members of Ig superfamily CAM (1) Ig gRBAH CAM
(2) Ca' dependent glycoprotein 2 e ikt wEameH
(3) Neural cell —cell adhesion molecule (3) X BIRMBI — FiRNBT ST 1]
(4) Na dependent glycoprotein @) i e aRemdH
34. Functional megaspore in flowering plants 34. 'g'ﬂfl'ﬂ 9l § Prfee AR FeRE g
develop into - T _
(1) Endosperm (1) Fomw
(2) Ovule 2 diis
(3) Embryo sac 3) “{‘W‘f
(4) Embryo @ o
35. Given the DNA sequence ATTAAGGC, which 35. SIU4.Y. 3gHd ATTAAGGC Eaficicolid
sequence would be used by researchers as an NYGdRl ENI SUP ARRgd ST @
antisense molecule against its transcribed faee vy TERG 3T 3 w9 # g BB
product? BT SYART AT SaT?
(1) AUUAAGGC {1) AUUAAGGC
(2) TAATTCCG 2) TAATTCCG
(3) CGGAATTA (3) CGGAATTA
4 VUAAUUCCG (4 UAAUUCCG
03- © Page 8 of 32 ~
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Aot

-
Pl

36,

r

Which one of the following is a useful

biological indicator of sulphur dioxide
pollution?
(1) Bryophytes

(2) Lichens

————

(3) Algal blooms
«(4)

Pseudomonas

36.

-t

o

—

fr=foRaa 5 9 S aowe SRS

TS FT U SURT o9 Hdas 87
o

1) IEHESH

2) =D

(3) T wHeA

@ TEEEE

37. How much of total global carbon is present in 37. |l If¥gw oEw § ¥ fPam ammeRe §
atmosphere? Iuferg &7
(1) Nearly 10% (1) < ET 10%
(2) Nearly 5% (2) NI 5%
(3) Nearly 1% (3) T 1%
(4) Nearly 0.01% @) T 0.01%
38. Middle lamella of cell wall is made up of - 38. oIf¥reT FART 9 w27 vefirer e g6 § —
(1) Suberin 1) gIRka
(2) Pectic substances (2) ke ygpl
(3) Cellulose (3) oA
(4) Lignin @ fafss
39. Which of the following element is not related 39. [F=faiRaq & & PaT Ueh T =TH I
with communication cycie? TR T8l 87
(1) Source 1 =g
(2) Message (2) deg
(3) Cognition @) <=
(4) Feedback @ W
40. The periderm includes the - 40. uRsd # afnfera & -
(1) Cork 1 e
(2) Secondary cortex 2 feius eicea
(3) Cork and secondary cortex 3) o iR Bdus s
(4) Cork cambium, secondary cortex and @ v dhRoe IS Iew R
cork T
41. The rod cells of human eye contains a 41. ¥Fg S B Iehdl HIRGRI § T—T OF
photosensitive protein called - Tl YBTe sl WS HETT & —
(1) Rhodopsin 1) et
(2) Actin () uldes
(3) Myosin (3) wEIRE
(4) Troponin @ e _
03- © Page 9 of 32
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42,

43.

4.

45,

-~

The scientist who propounded the concept of
imprinting -

(1) Konrad Torenz

(2) Karl Von Frisch

(3) Niko Tinbergen

{(4) Pavlov

Iarva of obelea is -
(1) Parenchymula
(2) Planula
(3) Scyphistoma
(4) Veliger

Which of the following is not the element of
teaching mode]?

(1) Focus

(2) Syntax

(3) Social system

(4) Creation

Which of the following is not the correct
principle of growth and development?
(1) Growth and development are the
product of heredity and environment
(2) Growth and development occurs from
general to specific
(3) Development is compensatory

(4) Development is correlational

46. Monarch and viceroy butterflies are the

example of -
(1) Parasitism
(2) Mimicry
(3) Competition
(4) Symbiosis

42,

43,

44,

45.

st € —

4y
)
3
@

PIIS ARG
Hiel af fiber
ISEZRHERE!
PIGEE]

aeferar &1 omEt & —

@
2
&)
@

ERRIECE

g
Repftecran

fer=

Fr=foRed # 9 T Bror aime: & o
e} 27

@)
@
3)
@

% fag
AT
AFINTE gollell
o

Frefafaa § 9 SFwr gig o s &
wel Rigla =& 87

(1

@

3
@

TR @ oSt § /v §
gl e Rem w3 [lke
PI 3R BT B
itz @ik 8

o gea=urca® 86T 8

46, #A® 9 qEwa fafei @ SamRw

3_
@
)
3)
@

qISHIAT B
et @1
it &
SiEICEIG|
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47. What is the source of the restriction 47.
endonuclease enzyme Eco RI?

(1) E.coliRy13

(2) E.coliR1

(3) E.coli RI13

(4) E.coliRx 13

48. A primary strategy for appeasing a potentially 48,
aggressive individual or partner by presenting
food is called —

(1) Courtship feeding
(2) Parental feeding
(3) Commensalism
4@ Mutualism

49. After ovulation graafian follicle changes 49.
into -
(1) Corpus artesia
(2) Corpus albicans
(3) Corpus callosum
(4) Corpus luteum

50. According to Kolesnik, what is the age range for  50.
adolescence?
(1) 11 yearto 13 year
(2) 12 yearto 15 year
(3) 12yearto 14 year
4 12 yearto 18 year

51. Which of the following type of thinking is 51.
related with Concrete Operational Stage of Jean
Piaget?

(1) Intuitive thought
(2) Deductive thought
(3) Inductive thought
(4) Sensory motor

GET IT ON
) Google Play

mﬁmw&omm
a4 87

(1) % ®rems Ry 13

(2) S ®RIE R 1

3 ¢ @=E RI13

@ =. Pams Rx 13

g5 grife wrifa Red gwifa sg 9@
SMhHG TR 3@l IR &R & Ao
A P gEM BT TN A Wi §
DHEAE & —

(1) Ry BifgT

2) Ued BT

(3) Fzafe

4 TRERE e

St & uza wiRE giewr aRakfa
8 WKl B —

(1) U9 SR |

) @E tfeamy ¥

(3 T darwd

@) SUE Fgfeaw |

DIAGNS B AR, [FEORERT BT R
PleT a1 27

(1) 11959 139§

2 129§ 9§ 1599

® 12891499

@ 123&3#18*@?

ﬁﬁ%r%lﬁﬁ'“@r HITET RFTH BT ghR Wi
s grt wew W wiharere agen 9
T 87

(1) o U= o

2) FrFeRe fER

3 IHTETS AR

@ I TS
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52. A fisherman is weighing each of 50 fishes.
Their mean weight worked out is 50 gm and a
standard deviation of 2.5 gm. Later it was found
that the measuring scale was misaligned and
always under reported every fish weight by 2.5
gm. Find the mean and standard deviation of
fishes -

1) 525,25

2) 30,5

3) 50,5

(4) 485,25

53. Choose the correct sequence of invasion -

(1) Migration — Aggregation — Ecesis
(2) Ecesis — Migration — Aggregation
(3) Migration —> Ecesis — Aggregation
(4) Aggregation — Migration — Ecesis

54. Which of the following is an incorrect

52. TP WGRART 50 Wofedl H | UAF BT Ao
$Y &l 2| ST ofa au 50 UM 3R
A e 2.5 7MW &1 91§ § 98 TR T4
& AU & Y9 B Tod a¥e | Y& T
off 3R B9 UAP Hoell D dud 3 2.5 IH
2 T a5t B TS o | sl B ey &R
AFG e S Difei] —

(1) 525,25
@ 30,5
(3) 50,5
4) 485,25

53, oM (SFTdo) BT GE B9 g —
(1) WA — THADT — AT
(2) SRR — TITE — THABII
(3) YA — IRAUT — THAIBN
@ THABI — Y ~» ARATIA

54, T=fifEa § 9§ BN B AT 87

statement? 1) e fafem 5 geeR @ e,
(1) Carolus Linnaeus recognized 24 PR 3R 99 & ARR W 24 991
classes on the basis of the number, size BT qgaT o |
and union of stamen. @) “whES iR 1753 % wHiE g
(2) ‘Species Plantarum’ was published in off | '
173 , () TSI P HEARAS GUBROT FT
(3) Adanson is considered as grandfather Hgwiey T SR 2
of numerical taxonomy. R — . s
(4) “Systema Naturae’ was written by @ T o e‘? Sifel der g
George Bentham. I
55. Which one is mismatched among following? 55, f=ifeiRaa § 9 &1 w1 gafera =i8) 87
(1) Bumus - dark, finely divided, 1 T - e, ged g,
amorphous organic SINTGEYT FENE
matter LR
(2) Duff - partially decomposed Q) TF . iR WY 9 Rl
litter T
(3) Podosols - highly fertile soil @) teEE - 3:?«*1% TS g
@ AREEE - o dw" (@9 A
4) Mor - formed at a low pH ( )
TR T &
humus (below 4)
03- Page 12 of 32
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56.

Which of the following Psychologist is not 56.

fr=feag 4 4 $F9 wERwe aRfe

related with research on emotional intelligence? & Wl sl 9 g gy W 87
. (1) LP.Pavlov (1) 3Ed. uEdg
(2) Daniel Goleman 2 SFEe Teds
(3) Mayer 3) IR
. (4 Salovey @ J9
57. 'Which of the following is used as a carrier gas  57. 9 e § f=fliReg ¥ . fhaer
in gas chromatography? SWRT I6F 44 B @9 § fbar amr 87
(1) Carbon dioxide (1) HET SEsfEe
(2) Oxygen ) Sifeio=
(3) Hydrogen (3) EESNHE
(49) Methane @ W
58. 'Who was the father of Educational Psychology? 58. frT wiifdsia & fiams @& o
(1) John Dewey M) S S
(2) E.L.Thorndike 2) Fuq. oifsEs
(3) Galton @) e
(4) Ebbinghaus @ uREN
59. Paddy thrives well on - 59. o I WE | G & —
(1) Alluvial soil (1) <% |/
(2) Stony soil (2) ™R JET W
(3) Clay to clay loam soil @) TR & gy AT a1
4) Sandy soil ) E@% HaT )
60. Which of the following is the Science of 60. F=faiRaa # & Hvn ol & aefieor ¥
classification of living organisms? e fasm 27
(1) Nomenclature Q) ey
(2) Taxonomy (2 afife
(3) Physiology @) I
(4) Agronomy @ w9 s
61. The refractive index of air is - 61. 9 P GGG Bl & —
1) 0.50 1 0.50
2) 2.00 (2) 2.00
3 1.00 3) 1.00
@ 175 @ 175
03- © Page 13 of 32
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62.

63.

64.

65.

66.

Oil immersion objective lens has a numerical 62.

aperture value (in practice) of -
1) 0.15
2) 0.05
3 14
4 120

Which is a correct set of characteristics of an  63.

Annelida?
(1) Radial symmetry,

segmentation present

coelom absent,

(2) Bilateral symmeiry, coelom present,
segmentation present

(3) Radial symmetry, coelom present,
segmentation absent

(4) Bilateral

present, segmentation absent

symmetry, pseudocoelom

Which of the following does not come under the  64.

scope of Educational Psychology?
(1) Heredity and environment
(2) Individual differences
(3) Telepathy
(4) Learning process

Who was the propounder of behaviourism? 65.

{1) William James
(2) Wilbelm Wundt
(3) John Dewey

(4) 1.B. Watson

In mature proglottid of taenia, a small rounded G6.

chamber formed by the union of oviduct and
vitelline duct is called -

(1) Vagina

(2) Ootype

(3) Ovary

(4) Common gonopore

GET IT ON
Google Play

HH (@d8R #) SaT'E —

(1) 0.15

(2) 0.05

3 14

@ 120

WfreT & Rl ST Wl ST Bl 87

Q) =T i, AigE SgaRe,
GIMaT Iufkerd

@) feud wafm diam  Suiem,
weha Sufverd

@) 8w wtm,  ddw SuRem,

@ feured wafig, @ WEr Sufem,
A IURerd

frefeRag & Q diar Renr wResE @

(1) TEAEHH TE AR

(2) <fRETa =

(3) uRfeE ==

@ <R i

FIENRAE P Uddd DI A7

1) faferaw or=v

(2) faeen goe

(3) it S

@ & dew

Afrr & uRue drdics ¥ A 3k

Giae Tzl @ 9 W tF BeT ia o"

e &ar 8, wEam § -

@ afF

(2) ScERY

(3) vSEE

@) wgga W oy

¥
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AN

“67: Which of the following is not the type of

67. Frafefed # 9 o9 W drgER we™
Computer Assisted Instruction? QT P UHN el 87
(1) Informational computer assisted (1) D HER HEY (ﬂﬁﬁ'&'ﬁ
instruction - (2 TERRIT TR B FEY e
(2) Tutorial type computer assisted ?ﬂaﬁ'{fﬁ
instruction @) P ST B THR FT G LCHiE
I (3) Educational 'games t?fpe instruction @ m IR )
d (4) Stereotyped instruction
68. The set of ecosystem is called as - 68. WRH B e P FEG & —
Ppa™ (1) climate ) vy
(2) hypersystem 2) TEwRREEY
l (3) biome 3) @M .
3 4) pluroecosystem @) @mw
69. Which of the following is not the characteristics 69. f=feiRag § 9 B9 fPviRERT & <RE
of emotional development during adolescence? TTcHS e Y feyar <& 27
(1) Hero worship O 9= L
(2) Opposite moods ) RRY wEeTE
(3) Feeling dominated life @3)... 9T T S
(4) Narcissism @) T-I]'\‘ﬁﬁlm (W)
70. The phenomenon of incomplete-dominance was  70. U Wwifdar @ uRuesi wewe <=
first time observed by - TE —
(1) de Vries M) I 99 g™
(2) Carl Correns (2) Bici BRT ERT l
{(3) Tschermak @) P ERT
(4) Sutton @) e BN
71.  The thickness of the ozone in a column of air 71. ¥UE ¥ AYHSer & R a6 @& 9y wm
. from ground to the top of atmosphere is (@iem) ¥ sl B Hiers A o & —
measured in -
(1) Pascal ) wrFe F
) Bar @) TRA
(3) Particulate Matter (PM) @) uifégeie AR (BT ) §
(4) Dobson Units @) Siew gfe §
72.  Which of the following have rich biodiversity? 72, . fFraiferRaa # & w1 SafoRerar wgg &2
(1) Arctic forests (1) sHfes o
(2) Temperate forests (2 w99
(3) Coniferous forests (3) BN T
(4) Tropical rain forests @) m\;ﬁ-ﬂ Tt &
03- © Page 15 of 32
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73. Which of the following is mot the kind of 73. Frfafa # & 39 W dlredw aav—-ﬂ'cf';"‘r
software technology? BT YBR ol 57 /
(1) Behavioural technology (1) ISR THD
(2) Imstructional technology @) Gﬁ?‘*ﬁﬁ TJENET
(3) Teaching technology (3) e aeie
(4) Relative educational technology @) e A T
74. How many biogeographic zones are there in 74. WRd ¥ fobem o9 — HMferd &3 57 "
India?
(1) 10 @M 10
@ 5 2 5
3 15 3 15
4) 20 @ 20
75. A totipotent cell is - 75. TP oiTrad BIIEBI BRI & —
(1) active in organogenésis only (1) dad Mg # Ak
(2) capable of tissue formation only (2) wad Hae AT § weE
(3) capable to develop into whole (3) <yl sha & Rl 89 F wem
organism 4) Pad A omior # wem
(4) capable of flower formation only
76. Which of the following is not an abiotic factor? 76. Fr=ifeiad F & P17 aNIfA® RS 7T& 87
(1) Temperature (1) YA
{(2) Water 2) v
(3) Plants (3) Uy
4) Soil @) e
77. Intwo neighbouring cells A & B — 77. & - Rerd Bi¥IERI A 9B ¥ —
Cell A has osmotic potential of —20 bars and HIRBT A § WRRT g —20 IR iR g6
pressure potential of 10 bars, whereas, cell B g 10 4R 2, Safs 0T B RN
has osmotic potential of —16 bars and pressure fr1g —16 9% @i} €6 v 49R &1 U B
potential of 4 bars. The direction of flow of ware & e 8rf —
water will be -
(1) From cell A tocell B ) HIUST A | DIRIGT B
(2) Fromcell B tocell A (2) DB B 4 PIRDT A
(3) No flow of water (3) U & YaTE Tl B0
(4) In both directions (@) T fewmel 4
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7R,
] Killer?
€Y
%
3)
@)

2,4-D
IBA
TAA
NAA

79.
correct option —

Which of the following is used as a weed 78.

Match group I and IT correctly and choose the 79.

Group I Group 11
(a) Vegetation of iy Cressa
sand dunes in Cretica
Rajasthan
(b) Vegetation of (ii) Euphorbia
South and South Caducifolia
Eastern region in
Rajasthan
i () Vegetation of (ili) Bauhinia
’ saline lake region Purpurea
in Rajasthan
(d) Vegetation of (iv) Calligonum
hilly and rocky Polygonoides
region in
Rajasthan
The correct answer is -
@ o © @
@ G O 2 G G
y 2 G) G v @
@) Gv) Gy O @
@ (v @ G) )
80. Select the correct pair - 80.
(1) Plectostele — Lycopodium
serraturm
(2) Actinostele — Lycopodium
clavatum
(3) Mixed Protostele — Lycopodium
cernuum

(4) Amphiphloic
siphonstele

Selaginella,

GET IT ON
Google Play

o 3 § BT TR & B TE
Bl B7

() 2,4-D

2) IBA

(3) I1AA

4 NAA

O 199 I &1 W e o §¢ Wl SR
BT T BINTY —

wE 1 wE Il

(a) NToRe H (i) s bl
IIGHT Wl B
CEESI|

(b) oI A (i) W
gfarer T Dgfawmifern
SIRoTgdl WRT
P TR

(c) Vroree # (i) dtfRfrn
Ui S qIRAT
& &Y TG

(d) wToTeRne # (iv) ofermeA
TeTS 9 FEMT CIEIRIBIESE]
& B Tl

TE SR B —
@ ® @ @

(1 G @ 2 Gy G)

@ Gy @) 3G @

3 (v @) @ @

@ v @ G ai)

TE T BT =TI BT —

1) "Ra W — AEHHRETH

IeH
@ Ny ™W - dAEPUIEId
FoIdTH

@) Bfm 9w — aEemsTH
™ HH

@) SHEaTH  — Rl
ATe_Y
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81. “Heat— Shock” gene obtained from Drosophila
which has been introduced in tobacco plant is -
(1) hsp 6871
(2) hsp70
(3) hsp 60
(4) hsp90
82. Clamp connections are found in -
(1) Phycomycetes
(2) Ascomycetes
(3) Basidiomycetes )
(4) Deuteromycetes ; ;
83. Which type of infloréscence is found in
Euphorbia? H
(1) Umbel
(2) Corymb
(3) Cyathium
4) Hypanthodium
84. 'Example of mesogamy is -
(1) Casuarina
(2) Cactus
(3) Cucurbita

@) Lily

85.  Which of the following scientist suggested that

complex organic molecules were important for

81.

82.

83.

84.

85.

GET IT ON
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[

srEifher § e “die oie” ofF AR
uey # AT far war § —
(1) hsp 6871
(2) hsp70
(3) hsp60
@ hsp90 /
LR R b R S
(1) BrEPHERIEN i
2) vEPEERES #
B ShefearmmeRds 4
@ SgEERET §
JHIEST ¥ BT T GRI7 SIe &7
(1) B>
2 R
(3) Erm
@) TS

HEYYIRT T ST & —

@ HgRT

(2 wwH

(3) THfer

@) fafa

FrfefeT & § e denie 3 gem R
5 wiftd sRfE o haw & SaRT 3

origin of life? ferq weaget o7
(1) Van Helmont (1) dF gedive
(2) Oparin ) =mRs
(3) Past‘eur (3) uEER
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87.

88.

6. Which one of the following statement is not 86.

correct?
(1) In psilopsida roots are present.

(2) In sphenopsida, antherozoids are
multiflagellate.
(3) In pteropsida, young fronds are

circinately coiled.
(4) * Inlycopsida plants are homosporous or
heterosporous.

Resolving power of microscope is a function 87.
of —
)] Wavelength of light used

(i)  Numerical aperture of lens system
Which of these statement is/are correct?
(1) Only statement (i) is correct
(2) Only statement (ii) is correct
(3) Both statements (i) & (ii) are correct
(4) Both statements (i) & (ii) are incorrect

Which of the foliowing is a dense regular 88.

connective tissue?

Frefafag § § obar $oF e el

{4

(1) wEaasT § o9 SuRem e[l 8 |

(2) waIEsT ¥ gAY] SgHema B
gl

(3) <RiftgeT # aeur @l § gsiem
<o, R or o &

@ cnseitasT ued ¥ aEeTs
Tl

et @1 faves amar o § —

() T U B aRTRE BI

Gi) o UOTCll & e AUER BT

o= § 9 SN/ B a B /87

(1) ad HE (1) Fel &

(2) Dga B (i) TE &

@) IE PO () R (i) G F

@ &FF B (@) 3R (i) Ted &

e 8 @ 9 g Fafia 9a9ee sas

27

(1) TUReNeR &a®

(1) Areolar tissue
(2) Tendons 2) v
(3) Skin (3) =
(4) Adipose tissue @) Ry Fae
89. The rate of photosynthesis is maximum in - 89. Tl HINT BT IX AfHad BRil & —
(1) Yellow light @O e wewEr |
(2) Red light (2) e Yo H
(3) Orange light (3) <N g ¥
(4) Green light @ T A
90. Which of the following is a synthetic auxin? 90. fr=ifeiag # & Pimar dRee oiifer 87
1) NAA (1) NAA
2) IAA 2) I1AA
(3) IBA (3) IBA
@ GA 4) GA
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91. Aristotle’s Jantern is an example of which class  91.

of echinodermata?
iy
(2) Ophiuroidea
(3) Holothuroidea
@ -

Echinoidea -

Asteroidea

92. Which of the following is a demerit of the 92.
‘Engler and Prantl’ systein of classification?

(1) Dicotyledons are ‘placed before
monocotyledons.

(2) Dicotyledons are placed after
monocotyledons.

(3) Gymnosperms are placed among
dicotyledons. P

(4) Gymnosperms are .E.f;?laced between

dicotyledons and monocotyledons.

93. Which of the following can be separated by 93.
isopycnic centrifugation technique?

D

@)

3

@

94. Which of the following enzyme is associated 94.

Soluble protein
Soluble enzyme

Both (1) and (2)
Subcellular organelles

with the inner membrane of mitochondria?
@
2)
3
@

95. Which of the following is not the objective of 95.
mental hygiene?

Fumarase

Succinate dehydrogenase
Monoamine oxidasé
Kynurenine hydroxylase

i

(1) Realization of own potentialities
(2) Maintaining good mental health

(3) To increase the intelligence of child
(4) Prevention of mental illness

IR, BN AT TSI &
P IGENT B?

(1) IR /
Q) SR
(3) SRR /

@ TEdEREEr

frfofeq § & 9w drer T ded
BT YOIl T Sraaqer 287 ~,.f' |
1) ST B el 9 usd v
ST 2

BdoE @ vwdeaS @ 91 @
S & |

=g &1 fgdfio= @ 9= v
ST B |

o B RBfeon &k
THEISTTE & S ¥ ST 8
Frefaieg 4§ smsafete ddvgieE
Teh-ilh gRT fHE areT fhar o aear &7
(M) gaTEE W

2 Yorreie gogA

3 (1)sR (2) 3FS

@ SuBIRSE HIREE

ffeiRa & & B dargy ATy
&1 HidR® fSreeh o dafitaa 87

(1) RS

(2) wHiFe eI

(3 4 R SifRiew

@ TR ersies

FefeRaa # & SiFar 9 w@red s
&I 9egg TE &7

(1) 3Nl IR FT AT BRAT
(2) 30 HFS TR BT IR

() 9P DI g B g@ET

@) TS SEIRIT B N

@

3

@
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96.

97.

98.

In SDS-PAGE, the protein sample is first= | 96.
(1) Treated with a reducing agent and then

with anionic detergent followed by
fractionation by electrophoresis.

(2) Fractionated by electrophoresis then
treated with an oxidizing agent
followed by anionic detergent.

(3) Treated with an oxidizing agent and
then with anionic detergent followed
by fractionation by electrophoresis.

(4) Treated with protease then fractionated
by electrophoresis.

The gene interaction, in which one gene masks 97.
the effect of non-allelic gene is -

(1) Complementary gene action

(2) Supplementary gene action

(3) Epistasis

(4) Dominance

How many true breeding pea varieties were 98.

SDS-PAGE-#, W& %71 uiiael dau —

() TF ITIRF HREG P G IUAING
3o o § &R R emafse feesic
amﬁrcrf%ﬁmm%l

() SEEEUREEE g 3iFifha Y TP
AFNPYOT Toic @ 9RT SUAIRG
foar war 2 e 99 Fonas
f¥coie ¥ su=iRa T 7|

3) TP sifdieRor Toic & W SUEIRG
farar wiar & ok R To Ul
fecole @ 2 W dgWid
ST B

@ uii%qua‘»wewﬁaaﬁ?m
JgTPUEAE & sfwnifra fopar
ST

S e e Us ol srgriddeed

S BT UiT AP BY AT B, HEATH © —
(1) WD S
@) & S
(3) ST
(4) wHTe
Yvgel B ENT A & UIRT P fha- a5y

.

selected by Mendel? TSl Folfodl &7 o9+ {bar - 917
@ 7 L 7
(2 10 (2) 10
3 12 3 12
@ 14 4 14
99, Which of the following statement is correct? 99, e § 9 B $UF 9 87
(1) Chromosome can be stained by (1) HEEE B AufE R SRR
safranin. forar ST 21
(2) The chromatin material which remains. @) »RkA wef S el dufa
in highly condensed state is called araeen ¥ BT 2, gHRfE S
euchromatin. el
(3) Basic structural unit of eukaryotic TSRAR .
chromosome is nucleosome. @) soTd R Wﬁ ; ;r K
(4) Intercalary part of chromosome is 5 ¥
called satellite. @ T A
ot FHEdwT T
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100. Sitamata Sanctuary is known for - , 100, HamERT IRV R & forg S Sirar (,?7
(1) Tigers M % g /
(2) Crocodiles (2 wRFD & o
(3) Migratory birds 3 vard ul?et @ R
(4) Flying squirrels @) v el & R }
101. The natural aging of a lake due to nutrient 101. WYH FHFFROT & RO e B Wpfwd
environment is called - Tl UG HEAl & — a8
(1) Bio magnification ' (1) 3T sl '
(2) Eutrophication @) s (o)
(3) Algal bloom e @) darer wEeT
(4) Deforestation e of @ W
102. Fusion of oné nucleus ST pollen tube and 102, WRFENAID (o Twd qul FSW] & e
secondary nucleus of the wwum results in the Bd © Hadd gRT [Qelyg 8T & —
development of - A
(1) Stigma (1) afdew
(2) Endosperm (2) Yoy
(3) Anther 3) WFHN
(4) Stamen (4) UYdEx
103. Some enzymes have cofactor bound to its 103. FHE TWEH D HIEH AT ¥ GSHRS 99 2R
protein portion. This protein portion is called - £ IE UISN W6 HEah & —
(1) Prosthetic-group 0 s I
(2) Coenzyme (2) HEvTRH
(3) Cofactor () EBRS
(4) Apoenzyme @) TOeTEa
104. Glutaraldehyde used during electron 104. ITOREH HZHIDI & SRE XA [
microscopy is a - SR AT TCRESESS Bl & —
) (1) metal 1) =g
(2) fixative (2) U5 (Rer®)
(3) developer _ (3) JTAw
(4) dehydrating agent @) Frefdhewr we
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T ot
I -
Bt Endotoxin Cry I is active against — 105. Bt‘;'“@t’lﬁ‘ﬂﬂ Cry lﬁ“l iI | ﬁw'ﬁ 'q§ Raenw
(1) Lepidopterans (1 ‘é‘l‘lﬂ@lﬁ?ﬂ s i
(2) Coleopterans @ ﬂﬁ?ﬁiﬂ‘éﬂ' 5?' ’ = ;
(3) Hemipterans 3 R r i A
(4) Hymenopterans . , @ E’lﬁﬂﬁ'@?\‘l i

The cotton fibre is obtained from which part of 106.

w$%@rm$mﬁ$ﬁmﬂmﬁ

the cotton plant? Ui 2 %? Y.
N K
(1) Root 4} \-,ﬁ; o N
@ Stem @ L
(3) Leaves A3) ot ¥ —
(4) Seed coat @) é’i\-rr 3TIT=I‘?UT oo
Formation of bivalents during meiosis occurs 107. 3EREN. fagme ¥ foarge @& ﬂ?ﬁ FEARINED T:Fr B
at — T argven 3 Aar 87 ‘
Wi H
(1) Leptotene 1 <EH - 13t
(2) Diplotene ') m A *
(3) Pachytene ® e I !
(4) Zygotene ~ d

@ myﬂ-a:r &

Type specimén selected from the original 108.

nﬁa’rahasvaﬁqawa Fﬂﬂ?fﬂfﬂ"ff'@f

material in case the holotypé is missing, is e T-Ffﬂ WY B HeT Wl §- 3
= g7 "? - T N * & !5:
called as - 3 | i
t i ;.3,
(1) Isotype on ' 5
a_ll.fs.fi_!e.'s , W }
(2) Lectotype (i) A i '
(3) Neotype 3 * g s:
4) Topotype @ : T ¥ b :
Which of the following cell organelle is 109. ﬁ"lﬁﬂ'\‘\sﬁ '3{ ﬁ M‘iﬁ’lﬁlﬁ'ﬁ TERTET T

essential for photorespiration?

(1) Dictyosome 63} m e, d
(2) Peroxisome @) q-\,amﬁq' N { :
(3 Endoplasmic reticulum 3) ﬁm Gﬂﬁﬁﬂ %
(4) Glyoxysome @ Wiaﬁ?ﬂﬂ?ﬂq RN
nA ) ) 1; § - Ty E‘. -
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110.

111.

112,

113.

Carpospore of Polysiphenia is - .o
(1) Haploid '
(2) Triploid ”
(3) Diploid

(4) Polyploid

In cockroach, the two lateral side of head below 111.

compound eyes aré formed by -
D
2)
3)
@

Epicranium
Gena
Clypeus

Frons

Which of the following is not the leval of 112.

Piaget’s theory of Moial Development?
(1) Moral realism
2)
3
@

Moral equality
Moral relativism

Moral idealism

Which of the following' Teaching — Learding 113.

material comes under the projective category?

110.

dfehiRmpifrarar sufar & —
(1) SreE

@ {
@ R |
@ g

AN @ T wvg € -

(1) vhmtem

(2) ST

(3) v

@) wrE

e § | Sar g @ SR Rem
fagia &1 ) 76 &7

(1) R gemefa

(2 =fte FHFar

(3 s e

@) #fe sresiar

Frefafien & & ol Breior - afem
el el wrE S 9o @ arwrld and
27

® rmeps i at
(3) Poster ' @) oo urga
(4) Chart & figure P @ R
@ = T o=
114. Under suitable condifioris the slime mould form  114. IRl YRR 7 s/ @us Fam §RT 99
an aggregation called - ¢ AT WHETd BEIR & —
(1) Spores 1 ) m
(2) Dikaryon  raer ) ?’W
(3) Plasmodium @) e
(4) Mycelium @) FEe
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115., Which of the following is not- the basic 115. [y=ifera & ¢ ®i W FEhry ARFTT P

116.

117.

118.

119.

assumption of cooperative learning?

(1) It makes teaching — learning, subject
centered and teacher — centered.

(2) It believes that students learn only
when they get opportunities to learn in
a competition free, worry free,
collaborative environment.

(3) It expects students to take intiative and
choose their own learning path.

(4) It emphasises on acquisition of
learning through meaningful
interaction rather than lecture or
demonstration method for teaching
learning.

The highest DDT concentration in aquatic food 116.
chain shall occur in -

(1) Eel

(2) Seagull

(3) Phytoplankton

(4 Crab

Phaosome in Pheretima are - 117.
(1) Locomotory organ
(2) Reproductive organ
(3) Lens
(4) Buiccal receptor

In bisexual flowers, maturation of gynoecium 118.
before androecivm is known as -

(1) Protandry

(2) Gynandrous

(3) Dicliny

(4) Protogyny

During résting state of muscles, the active 119.
binding site for myosin on the actin filament is
covered by which of the following?

(1) Tropomyosin

(2) Troponin

(3) F-actin

4) ATP

MRS AT 8 87 “

(1) I= Rrm afrm @ vy o
I Bivgd TG B

(2) IT 39 90 W fawae w2 &
W@ﬁﬁwmw
¥ Y B R e |

(3) wﬁa@ﬁﬁmaﬂﬁéﬁvw
21

@) Iz Remr M ey SRA s
Wz faftr o arderm arlw ofa: fmar
mmaﬁﬁwwﬁ‘cﬁ%l

R e ieE) ff e SR Aiwa

@), I grE
sEfell w@l d SgRmM 9 wwd

1 gyEar p
2) W‘Fﬁ
@3),, RRFE

@), ﬁrtﬁi?n :

" e @ R oreen § PR § 9 @

R Tgel TR AR G i e
! RIe DY ehEe w@d 82 f

Q) cEEERE e S

@ gmfE r
3 Wqﬁrﬂ

@) TEG2T LR
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LI 3

120. Which of the following is not a part of innate 120, Friferag § & ﬂﬁ?FHT EENIN] T;I'l?l'\’&ﬂ E1
imrhunity? ‘ feeaT el 87
{1) Acid of stomach (1) IFRE P e
@ Sdiva 7 ¢ @ R
(3) Tears - ex LI 3 3) W
(4) VaCCine : (4) am:l—
121, Which'ofthe followmg lsasecondary lymphoid 121. fr=fifea § & @ Rdws o™
organ? " } 3T
(1) Appendix- M RS
(2) Liver *° | @ Tpa
C)] Lu"gs - -.‘ ;1?‘?‘#{ (4) BIEH ) H
122. As a paras1te ‘in human Ihe final or fourth 122. A9 # Wolidl & w9 4 GRE ?*ﬂilf o1
moultmg of ascans Iarva takes place in - it a <dren el Biar & -
% ‘2 ]
(1) Intestme %‘ B (D argH
(2) Lungs* @) BT |
(3) Live[ " :,' (3) Il'q:,'ﬁ' 'ﬁ- .
@ Soil @ T H .
123. Which oné of the following statement is 123. Fwferim ¥ & @iwen wom o 82
coffect? . (1) <ias T SEM #T ESREE
(1) The herbanum of Lloyd Botanical eI ¥ Rer £
Garden is 1ocated at Dehradun (2 =" IS SR weea
(2) The Ceritral Nafional Herbarium is Rerg &1
_ located at Kolkata. % o @) Sfod TTERy SEM @7 sREw
(.'?) Ht:rbant;m 0; Royyarl l]:cotamc Garden s ¥ R
;. islocatedat New Yo | . @ 5 & -
1G] Herbarium of Natmnal Botanical Rrair & R &
" Gardenis located af Shlllong
124. Whlch of the followmg set is of 124. F=foRaa # @ @FRw e
B‘amdomycetes”‘ . : S ) IRETARRES o1 87
(1) Asggrglllus. Clavice ceps, Neurospora (1)  YeRRIeE, Feided, R
(2) Hallotls, Cypraca Murex (2) e, g, 'g?iﬂl
(3) Agaricus, Ustilago, Puccinia 3) TIRFH, I (F), TR
(4) Mucor, Rhiizopus, Albugo - @) TER, I, degi
N — S -
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Ty
125.

Find median from the following data recorded 125. Wi wel i & demm s FeiaRaa
on number of lseeds per pod — P! A AR Eﬁrﬁﬂ—q —
5,19,42, 11, 50, 30, 21, 0, 52, 36, 27 5,19, 42, 11, 50, 30,21, 0, 52, 36, 27
1 25 @ 25
2y 27 2 27
3) 28 3 28
vy 1 () 26 @ 26
126. The terminal {buds of tea plant which are 126. = @& W 3 ¥ERT Hlred W AURS
commercially | most valued are commonly w9 W WaIRE [EEF B §, 5 Hel el
referred as - T — a
(1) Golden Tips Q) eeT ey ‘
(2) Orange Pekoe . @) SR R ot
(3) Pekoe 3) R@r fqs T2
4) Congou @) a’?!ﬁ‘-ﬁ'??;& . »
127. The most important factor affecting the climate 127. Tl &/ g] STelarg BT yAldT B qrell
of an area is - WY AETIY PREF T —
(1) vegetation (1) T
(2) latitude (2) &
(3) longitude (3) SRR
(4) exposurelof the earth’s surface, @) Hazﬁ P AT BT AT
128. In humans, egg is liberated from ovary in - 128. Mg ¥, fSIT ¥ IS ga Ben B -
(1) Primary qocyte stage 1) wRfE REm@iT sl ki
(2) Oogoniallstage 2) R e
(3) Secondary oocytes stage @) Tedae iR sewer §
(4) Graafian follicular stage @) I Rk s 3
129. Gibbons, Chimpanzee and Gorilla are grouped 129. fye=a, Rl T MR ® fFw e A
into which of these? @ T &7
(1) Prosimians 1) W
) Catarrhinzt (i) zf}gmg—rn
(3) Anthropoides (3) teidERd
(4) Platysrhina @ SN
130. In chick, which ene of these acts as embryonic 130. 1= # & I o H, YU AR & T
urinary bladder? P Bl 87 .-
(1) Amnion (1) A
(2) Chorion (é) PIRGE
(3) Yolksac 3 b B ..
(4) Allantois @ vaeetsa.
03- © Page 27 of 32

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2417

131. In mammals, cells which secrete dentine 131. &Hal @ I PINRNEN W ST B G
are - oGl
(1) Dentoblast 1) SRS
(2) Odontoblast Q) SR
(3) Osteoblast @) siR<iETe
(4) Ameloblast tie @ R
132. In human heart tricuspid valve is present - 132, 99 g&g 4 PBgo sue suferd g
(1) between left atrium and left ventricle g — >
(2) between right atrium and right (1) I3 snfie ooy 914 o & 7=
ventricle @ < sfic won TR Fem B w
(K)) ::;v::en venfricle q;nd pulmonary @) frem o - T
(4) between pulmonaty artery and: aorta 4) TIEHY A TR HEREHl B ey
133. Tn which of these lakes :of India, the World’s 133. WRT = B ¥t sher 3 R &7 weper e
only Floating National Pafk' is focated? Bl Y S 2?
(1) Dal lake 1) o N
(2) Shilloi Iake 2 B e
(3) Lake Tsomgo () <ErFET e
(4) Loktak lake @) dras e
134. The blastula formed in human embryonic 134. #g& & UREN & IRM T a0} PRF B
development is - ; FET B —
(1) Blastocyst f (1) ﬁ'\’iﬁga
(2) Coeloblastula @ H'ﬂ,'iﬁfﬁ?ﬂ?
(3) Stereoblastula GB) TTERE
(4) Discoblastula 7 @) REERe
135. Which of the following characteristics is not 135. Freifeia ¥ ¥ @l e GChUMED
related with Information Processing Model? Y diee 9 wwafrg 78 27
(1) Handle the stimuli found from 1) IEENT A U SISIhl B GHTeN
environment & forw
(2) Organizing the data material @ ¥sa ?TI'FF/ﬁ B HAST W & forg
(3) Using verbal and nonverbal symbols @) m v Sl et & S
(4) Emphasize on relationship with @) TS B 9T Gl W g9 3 @
society ferg
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136. Which of the following is not a technique forin 136. fFrefofag &9 @9 W@ Tﬁ?ﬁﬁlﬂ?ﬂ Ei]

situ conservation of biodiversity? TR ERET Th-1D -Tal 57
(1) Botanical gardens @) Ty SEE
(2) National parks 2 T ST
(3) Sanctuaries (3) RIRTY
(4) Biosphere reserve @) TR Rerd
137. Pineal gland secretes a hormone called - 137. iffge oY g1 Snfda M HEarm *E\ -
(1) Oxytocin . Q) SRR
(2) Vasopressin 2 TWRE
(3) Melatonin @) o=
(4) Thyroxine @ TR
138. For constructing pie diagram the area of ci;cle 138. T RE/ tﬂ% fiF T ® forg, 99 © &=
is calculated by |- Bl IO ?ﬁf IR & —
(1) -;-'rt (1) grt NI ‘
(2) 2mr y 2) 2mrEN
@ 3o A, (3 3mrEN !
@ = @ =2 EW
139. In human kidnéys renmin is released mainly 139. %9 & gahi # W J&@ [$¥ gN
by - it (Refis) grem &7
(1) Proximal convoluted tubule (1) e gefoa afert 4
(2) Collecting tubule (2) < AT 9
(3) Distal conyoluted tubule: (3) T q,—,?gf—;-,m Aferprel §
(4) Juxtaglomerular cells (4). TTHIETARIGER. BIRERT W
140. ATP is utilized during which step of the Calvin 140. &feas =pF & &9 § =0T § TG HT
Cycle? SUERT BT 87
(1) Regeneration D ET-ITrYH:r
(2) Carboxylation (2) DETFIIN
(3) Reduction (3) SRR
(4) Both (1) and (3) @ (DR @) e
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141.

142.

143.

144.

145.

Species with high fecundity, high growth rates
and small body sizes are typically -

(1) endangered species

(2) keystone species

(3) k- selected species

(4) r-—selected species

Volume of air inspired or expired during normal
respiration is called -

(1) Tidal volume

(2) Total lung capacity

(3) Inspiratory capacity

4) Vital capacity

it

Polyarch vascular bundles, are usually found

in-
g

(1) Monocot roots

(2) Dicot roots

(3) Monocot stem

(4) Dicot stem
Which of the following hormone is secreted by
placenta?

(1) Luteinizing hormone

(2) Estrogen

(3) Testosterone

(4) Human chorionic somatomamotropin

‘Which one of the following represents an ovule,
where the embryo sac becomes horse — shoe
shaped and the funiculus and micropyle are
close to each other?

(1) Amphitropous

(2) Circinotropous

(3) Atropous

(4) Anatropous

141.

142.

143.

14.

145.

GET IT ON
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Jed 9avdl, 9= g W AR BR TR B
MBI qrell T AN TR Bl § —
(D) T@ur et

(2 T - N gonfaat

3 k — Tafg yonfaaf

@ r— wala vyenkEt

WY w99 3 SR MeaRm O MiealRe
g AT FEAAT & —

1) <F T

(2) BIEH

3 Fearm ewa

@) < e

Sgafee™d HagT Yd WRAIT U W
§_

1) THEETA oS A

@ Bh6eEh s §

3) TFHESE a9 F

@ et o A

=1 4 9 Flhwr gMF @l R el

forar <mar 87

(1) RTERT FEHE

(2) TEIoE

(3) TERRN

@) T sRaFE AReHAgiA
FrfaRan § 9§ o9 e dais @1 g
@ B W & N TR iR e
Th SR D PO B 87

1) TS

@) R

(3) TEiuw

@ TR
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146, : Mode is - 146. ¥gaF © —
(1) The mid yalue of the data. Q) TETD 9 B AA|
(2) Most frequently occuring value in a (2) Tr 9c ¥ 9uifte IR SuRed @)
data set. BT AM |
(3) The central value of a sequence of data (3) arFSt B RG] T Mg DT 98 99
which divides the entire distribution 1! w AR P e qUEY 9T |
into two equatl parts. e, Y|
4) An arithn?_atic mean @) Wi A
147. A graphical representation of a frequency 147. IRGRAT 4 & ACEE FHUT B FHET
distribution is called - S ® -
(1) Stem and {leaf plot D I 3R F=i BT wie
(2) Scatter diagram (2 TR ARG
(3) Time - series plot (3) % wie
(4) Histogram @) R
i48. Glisson’s capsule is found in - 148. s &1 Q:IEFE},T:’ T A —
(1) Kidney (1) ggw A
(2) Brain (2) ARass #
(3) Galt bladder 3) fxmeE #
4) Liver @ apa
149. Which of the following is not the type of 149. fFr=feiRaa ¥ ¥ s Fffdare o1 ToR
constructivism? | T8 87
(1) Cognitive Constructivism (1) SIFEs Afiaae
() Animal Construcivism @ g Pffqae
(3 Social Corlnstructivism ’ @) T FRidae
(4) Radical Constructivism @) Yo B
150. Which of the following is not the kind of 150. F=foRed # & Nl AGIA FRT &
Jearning given by Ausubel’s modem cognitive IRIF HAIHS RIEid & AT 3T aTel
theory of learning? T fagia &1 ueR T8 87
(1) Observational learning (1) STNBATIE IAATH
(2) Rote learning (2) <EaR A
(3) Meaningful learning (@) iyl e
(4) Reception learning @) RRTET g
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